
UČBENIK, STRAN 78, NALOGE 1A, 1B, 2A IN 2B 

REŠITVE 

 

NALOGA 1A:  

2. careful – carefully 

3. easy – easily 

4. fast – fast 

5. loud – loudly 

6. sad – sadly 

7. good – well 

8. bad – badly 

 

NALOGA 1B:  

1. well 

2. loudly 

3. easy 

4. loud 

5. quiet 

6. easily 

7. sad 

8. fast 

 

NALOGA 2A:  

Finish his homework 

Pack his sports bag 

Meet Owen in town 



Take the dog for a walk 

Tidy his room 

 

NALOGA 2B: 

He doesn't have to practise the piano.  

He has to finish his homework.  

He has to pack his sports bag.  

He doesn't have to clean his football boots.  

He has to meet Owen in town.  

He has to take the dog for a walk.  

He doesn't have to load the dishwasher.  

He doesn't have to take out the recycling. 

He doesn't have to phone his grandparents. 

He has to tidy his room.  


